Join Telegram Channel "QuickSarkari.Com"

IR U AT Bt <EA R, @S
farstTas - 01 —udien/2025

URFTeR 3tgan wdien (PET)-2025
ST Fell (AR 6E)
uden fafer : 06-09-2025 Tt : T2H
1. | < fowor 3o forersa <Y A o aftamor & foww § 3 €, 39 forgwor spga 2
URHTUTETR
2. T < Tga faRmRer T St S wiaar 7, e 9 % Hgd o 91 § §4d1d & |
qTa
3. | ofem w1 fodw = gl
S|
4. | <= dewe vee B, I dodH 68 2 |
o=
5. | 3ftd fe@mr g 1 adl 31 2
TR | ST

W (9. 9. 6 @ 9. 9. 10) : Fr=fafaa M 1 dg @ MU Y % W A |

§ wfi-sft g & 5 saa il a% s@S B orafda s % ag off yRaed sftetvew @
AT R A& hg TehT ? 3T AT ISE! 6 faq oft e ol - Taderan, wsy, Tenefiar-
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AT % ®9 § GrEdl 8, 98 gAR SEehlel SEh 1 Bl & | 98 T o S i AEH § T

VZ9

1 MASTER SET




Join Telegram Channel "QuickSarkari.Com"

BIE Tl | -3 T -39 o GRI AT T S-6 BANI HBId hl Sl WRI fowar g | |
Ul @ & Tt 5 S B gER QU ], S 3 R ey 7, 369 7w fawe & ® | WE w1 A
TS GO ISR & A Bl | W S%d i Mg § gad TEAarell SeRar A &1 ey T8 59 "ehdl |
g | vEn off 78 9 wekar b g9 it STgEfued & A9 ° 9K gt 31T SEE @l ¢ | Hifaigd |
g1 o1 o T9 [ 310 & A2l 81, ¥« 94 T & & 8 |

gt Hwi-heft F Hie T § 7
IS Tt STTAfTaT e o A1g Ht WA Sfusuve i S Ft T8 g Teht ?

IS F AU ISl o A= oft Frenr foR waaar, @Sy, @neiaar-39 99 o EARCLE
3T @I |

eS|

ergehst o iftr-fermmfaet < -t a1 arg St @ ¢
g i S wfet w AW E |

HIfTCTE 3 AT hal AT ?
T YU 373 @ 721 21, Ta 7 T ¢ T g |

10.

M ST &I Mg § o ATt TS 1 JMEH &l & Fehd |
o

e (7. 9. 119 9. 9. 15) : F=afafaa o & ggat 1@ Tyt % 3w G |

@ H ovff § ygfi % foem @ Fen * Iea wy | wiy e wfy sow g @ swh il A
TIseT I ST 7 | e ek I Ieq Bl & ITeh! WelTg o1 ST feRal ST B | feRet T e Bt
oft T 3T WA Hd & | $H YR UTA hl HaATS hi IoT §:@ 3R A=< g1 hi AR | wlt 18
2 | 3T Sl Aol | WET HIE Ig HAINTHR T 8 S U hl g T IS B, W W i Aol 7 v
TIfhR & S T Sl WeATS bl SaoT il & | o9 4, 8 89 amm=e it 9oft ° w@n g, 9 ot
wft 3 AfFl a1 awqat # g 9ge o W 8 g =fw o axg & i g, S8t @i 98
Fft 78 ST | Aft HEHg A FHAY Bl arel; W A | S STareia et 3eh! g HYTeTe @ |
TAET & ®9 % At FTEATR A I THUA i AETRT T ST hl &g =4 § @ |

HUX HET ST IRl 8 b I ST & FATS | T LAl @, I8 @ IR G I 9ga-91 37 GE hl
Tspam a1 37aEen W At 81 ST 2 3T 39k g1 o Ja1g a7 Sied o faear & fou srfies
&7 B AT 2 | 98 g % 3@ U gEl 3N gl % 9@ ¥ & BH oA 2 | 3T <@ I8 § R gl
% 5@ § GG g 1 =W a1 =amdes 8 1 301 & gl < g@ ¥ gt g o ot | et gEt s
I "I €W g U Wl BT el b o To1Y 5 Tl T@d 9 e foh I 7 Aied &1 9 o a8 Bl
2, el Ted1 3 3R HE1 7 ; Ig 3N 9§ 6 7w e b T der v @ 2 IE @ il sy
1 TR TR 2 gUrl 1 QX A1 HH B I | UH TR W gUR SIH % T 98 310 AT TR
3T ST B 3T 39 STUEt A7 AT T I0gH sl §AR e 6l qfse T T1eeh 8 A1 3 |

TR 9g foh e 6t wifed & fofw a6 g@ o srfaftes o foreht fariwan <t arvenm 7 |
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11.

3@ 1 Avft # sgf o fo=mR @ w0 1 Ieet 1 g HhaT @ 7

Y
12. | weon fomeh gfa 3caa &t 8, 3 fore @ fopa S @ 7
IHeh! WEATS hi 3TN fRaT ST 2 |
13. | forelt Wy gieht oft ST I|ehl YeATS i & | 39 YR UTH <hl WeITS <hl Ixon fobet SIfort o vt
STt 8 7
T:@ 3R 3 gl ht
14. | 31Hc 1 Aoft § TET g g TR &l @ S T <l BT Sl IS B, W g H Aol § v
TR & S U < ST ST T B |
g
15. | fermeht wifeq = fore ot & g & SrfaRer 3w foret fomiwar 6t smem 72 et 2 7
Eaaull
16. | mEER + frfeifgd # & fopm wom W Hier smeq fopen (g &9) 2
RLELE
Mahavira attained moksha (became a Siddha) at which of the following places ?
Pavapuri
17. | 959 o, S =R Gl hi Icafd ht S e 7, fha fesw e § arn Sar @ 2
ESCG
The Purusha Sukta, which explains the origin of the four Varnas, is found in which Vedic text ?
Rig Veda
18. | gsum wear fopm 1 & wafoq 7 7
T TN
The Harappan Civilization belongs to which age ?
Bronze Age
19. | 9 7 fohu 3u # ufithresmor (31fam gfe) wmea i 2
80 d
At what age did the Buddha attain Parinibbana (final liberation) ?
80 years
VZ9 3 MASTER SET




Join Telegram Channel "QuickSarkari.Com"

20. | 3mfe quor fopg diefent it Ga=fa dug 2 7
anfene
The Adi Purana, is the hagiography of which Tirthankara ?
Adinatha
21. | sme foifem sfean @remsel i T e g8 off ?
20 3T, 1843
The Bengal British India Society was established on
20 April, 1843
22. | vieq # 3% sfeam wwifiuem < v fopeeh grr i TS ot 7
TETHTE RIS
East Indian Association in London was founded by
Dadabhai Naoroji
23. | Rreprtt # av wwg 1 S fohe Y g3 ¢
1893
The Parliament of Religions held at Chicago in which year ?
1893
24. | srqeficH afufa 1 qeme™ #af 8 ?
<hetehdl
The headquarter of Anushilan Samiti is at
Calcutta
25. | IR & faaree =i fefewr aepr gra whier fobw s <hi amom femerar <t oft 2
TS UISeaen
Who announced the British Government’s acceptance of the partition of India ?
Lord Mountbatten
26. | fova i ge@ el 7 - 7 ?
RIES
The longest river in the world is
Nile
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27.

1 oo e ¥ e TR 1 g HEE1 ey AU J2 g8 @ 7
MY 3R ARG TgH
Which type of rock formation is most commonly associated with low groundwater storage ?

Igneous and metamorphic rocks

28.

Fe I T 9|1 ST Ll B |
g‘:q

The camel stores fat in its
Hump

29.

WA & gfva™ | hiH-91 9P fRa g 2
& AR

Which sea lies to the west of India ?

Arabian Sea

30.

DTM % foh8 =01 3 T d9 SHEEAT 91 @il St & ?
=0T 2

Which stage of the DTM sees the fastest population growth ?
Stage 2

31.

Sferenfta srefeaaen w1 31t on
9 391 Wl ufa e areferes S A @

Meaning of the underdeveloped economy was

Countries in which per capita real income is low

32.

T o Feel IS HRIHH 1 Gl FoRaT T 3 3TER 1980 ¥ 3EHI ATH FEaH £y
femn m |

TS Uo7 ATHTR SHIshe
The food for work programme was restructured and renamed as from October, 1980.

National Rural Employment Programme

33.

HASHIEAT b AR Hl (G IWHAISN T TgaH R ARG FH % fog Frfelaa & 9
S -|1 W R HAT 8 7

ferdiar wzem
Which of the following acts as a vehicle for mobilising and transferring the economy’s surplus
to the ultimate users ?

Financial institutions
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34.

form sttenfires Hifa seara 3 wdwfes @9 o IR sreferar § v wiifos gfteer yeH 7
Sirentires ifa = 1956

Which Industrial Policy Resolution gave the public sector a strategic role in the Indian
economy ?

Industrial Policy Resolution 1956

35.

Tsh TN TeAT TEH TS 1 Ush o ST Sftad hl e d Savdehdriatl @ ff g0 e § sremed
&Il 7, 3§ e Al 2 |
i

A social phenomenon in which a section of the society is unable to fulfil even its basic
necessities of life is called as

Poverty

36.

e 98 & freen S5 gew "eq # Hiflgs I =Ear 8 3 58 anifea fag grn ge=mn
ST R

AT

question is one to which a member desire an oral answer in the house and which is
distinguished by an asterisk mark.
Starred

37.

TN o TATEXOT T T SR FUR q1 1 3R g7 e hl g, % I AT B |
I 48A

Protection and improvement of environment and safeguarding of forests and wildlife of the
country comes under

Article 48A

38.

IRA 1 HIITH T8l 91 1928 § ERURRIER IR I
ATt T8

The Constitution of India was first drafted by in 1928.
Motilal Nehru

39.

TR TE SATANGh SATITAHTA o S AN BT & |
HT=T 359

is applicable during external as well as internal emergency.
Article 359

40.

AT TIGHT & Ued 3T B |

IuRTSEUfd

of India is Ex-officio Chairperson of Rajya Sabha.
Vice-President
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41.

frafa o wehrr <1 T 3R W 6 SehreT Y TIfd <k SISl HTEIH gl AT 2 |
AU

The ratio of speed of light in vacuum to the speed of light in a medium is called the

of the medium.

Refractive index

42.

afe +4 D Wkt 1 T Iaet 4G 3N —10 D A 1 T 31Tdel 8 Th R & Hoeh § T@T 1T 2,
it wife == gt ¢
-6D

If a convex lens of power +4 D and a concave lens of power —10 D are placed in contact with
each other, what will be the resultant power ?

-6D

43.

e 1 forg uerel & s 91 § duted R S 8 2
i IR s
Acids are stored in containers made of which materials ?

Glass and ceramics

44,

BT § HH-H AT T8 qu1 b T F AR HraiD TYHS (Ho,COz) SHIA & 7
e STZIHATHITEE (CO,)
Which acidic gas from the air dissolves in rainwater to form carbonic acid (H2COs) ?

Carbon dioxide (CO_)

45.

TSEA o 1Y I A &
Ivafertt

The flower of the Hibiscus plant is

bisexual

46.

2 X
guﬁmmﬁw%?
40%

5 in percent form is

40%
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47.

Ife x 3 y TE-319T &, A ITHI LCM 1 2 7
xy

If x and y are co-primes, then their LCM is

xy

48.

TIE <t 3 3okl hl TEAT 3R Y DI 2 37 ol TEAT o & T AL FT & 7
989

The difference between the largest 3 digit number and smallest 2 digit number is
989

49.

Ife 2994 + 14.5 =172 8, A 29.94 + 1.45 =
17.2

If 2994 + 14.5 = 172, then 29.94 + 1.45 =
17.2

50.

HIT-HT TS 8 : V45 AT 49 -172
J45

Which is greater : 45 or 49 -17

J45

51.

Th qEY 1 GRS 24 g, Tk Hiwell 3 el “Ieh! AT W fiem b gehetiel 91 8 17 9o o1 wleen & @
TEY § 7

Ecil

Introducing a man, a woman said “His mother is the only daughter of my father”. How is the
man related to the woman ?

Son

52.

Ife 1 SHadl, 2001 1 GWAR o1, 1 31 fedst, 2001 ! T8 &1 HiA-91 fe7 a1 ?
AHER

If 15t January, 2001 was Monday, then what day of the week was it on 315tDecember, 2001 ?
Monday

53.

HohST T | ST 8 Tifeh Uehsl H BT 8 | TEhS T & ST B SAfehd 3T & BIT 8 | 30 § gad
BRI HA R ?

Ferifm 7 T s Eera

Mukesh is taller than Suresh but shorter than Rakesh. Rakesh is taller than Harish but shorter
than Amar. Who among them is the shortest ?

Cannot be determined
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54 | Frfafaa § @& ween s i B |
qa
Find the odd one out from the following.
Mercury
55. | 45 BT hl Hell H 7YY 1 & SN A 157, @ < § YT H1 {6 F=8 7
31
In a class of 45 students, the rank of Ayush is 15 from the top, then rank of Ayush from the
bottom is
31
56. | 7% feweht # smifya sfean sium Sefifer 2025 # w9 uhel w1 fgam frem sfhar ?
vt TR
Who won the Men’s Singles title at the India Open Badminton 2025 held in New Delhi ?
Viktor Axelsen
57. | R " ®IA (FMF) 2025 S8l STraltd fhar = o1 ?
T, geid sna
Where was the Future Minerals Forum (FMF) 2025 held ?
Riyadh, Saudi Arabia
58. | SHEt 2025 H HH-HT1 ¢ ATk dR W fsre Twg #1 10 af 1f gew s ¢
FERfEn
Which country officially became the 10" full member of the BRICS group in January 2025 ?
Indonesia
59. | U1 ® AT Sufiar fasm T e 2025 1 fawa F@m o ¢
JETHAL 1 AIH TN UYL I | FGeTd o
What was the theme of the Entrepreneurship Development Conclave 2025 held in Pune ?
Empowering Entrepreneurs Transforming Livestock Economics
60. | T8 IHTGh Tguta ot H1eT 1 100 oW <t 31y # feopw fafr w1 fem &1 o 2
29 faER, 2024
Former U.S. President Jimmy Carter passed away at the age of 100 on which date ?
December 29, 2024
61. | 15 e, 2025 1 7€ feoeht # smfom ws worig # wgufy oy worgReT g Ryt & Hie
AT GEhR § fopdt EeATa fekam TR 7
asulqre
Who was conferred the Honorary Citizen Award of Singapore by President Tharman
Shanmugaratnam during a ceremony in New Delhi on January 15, 2025 ?
Tarun Das
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62.

ek farfauan (Femem) sAfufm, 2023 w8 AFLF ?
1 3T, 2024

When did the Biological Diversity (Amendment) Act, 2023 come into force ?
1 April, 2024

63.

5 SeRl, 2025 i, WA d¢ & & & e efatad ¥ & f6m e g @ et 9 3
fesmesa ok ffifa s el o (FPV)-3Med 3R - fhe e ?
Titen BT fefiee

On January 5, 2025, two indigenously designed and constructed Fast Patrol Vessels (FPVs) —
Amulya and Akshay — were launched for the Indian Coast Guard by which of the following
Shipyards ?

Goa Shipyard Limited

64.

SRR &1 AftRR @ @ U (Th e §t) SR TEIH $SU%RE 2025 HT 8 a1 TRV Hhal ST
TeRaT T o ?

Efeen vemifsTem wié fafiee, e e

Where was the 8" edition of Indusfood Asia’s premier Food and Beverage (F and B) Trade
Show 2025 organized ?

India Exposition Mart Ltd., Greater Noida

65.

fegsr 2024 ¥, frm @MeT 7 “SAF.E. (FaerR, whiEsd, wiffges e ufpfne) wwmeeH :
fafomtor foema & o aftes s fives @ e o 6 2

YT STRETIIE TR S HTRITT ST (NIT]) ST

In December 2024, which organization released the report titled “S.A.F.E. (Secure, Affordable,
Flexible and Efficient) Accommodation : Worker Housing for Manufacturing Growth” ?

National Institution for Transforming India (NITI) Aayog

66.

HRA-TTfREI™ 3 99 1960 H Tk GfY W g&aier foru 9 | 38 g o1 = o
fay st vty

The India-Pakistan signed a treaty in the year 1960. The name of that treaty was
Indus waters treaty

67.

Shifer st TSuT R ?
e

What is the capital of Libya ?
Tripoli
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68.

IS WRA %! T Hell ANeA § § Th ¢ SN fohd U9 | R g 7
ST T

Kangto is one of the highest peaks of India is located in which State ?
Arunachal Pradesh

69.

YRS Gie™ o ford IT=8¢ & AN, TU 1 HRIM e woguta § fFifga gt 2
AT 53

As per which Article of the Indian Constitution, the executive power of Union shall be vested in
the President ?

Article 53

70.

forea Jusier 1R fead e 7M™ ST 8 7
15 W

World Consumer Rights Day is observed on
March 15

71.

ST 51 1A (ILO) T Y&ATeTd hal a7
R

Where is the headquarters of the International Labour Organization (ILO) located ?
Geneva

72.

Torera wam i fa@ 2 7
fdeg

Vijay Stambh is situated in
Chittorgarh

73.

<t fope IR U9 1 9RaRSE T ' 7
e

Dekhni is a traditional dance form of which Indian State ?
Goa

74.

TS W fohe Al H U SR AR Bld @ 7

4 T

Asian Games are held once in how many years ?
4 years

75.

<gam-3 form o waifua fopam mam o 7

2023

Chandrayaan-3 was launched in which year ?
2023
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fdw (9. 9. 76 4w, 9. 80) ; fimfafga St 1 eamgds rerET w3 e % WL |

= feu T Ui =R dte STer-3Ter wEHl A SHe, B, ", oTie 3R A § ffif i
(& 3 ATEE) I et gean 1 fowrd foawor guiiar & 3t @ & feu o eaet =9t ure e -
Ste A faftte oot BT 1 GEn % A6 HRiE d S gt 2 |

Direction (Q. No. 76 to Q. No. 80) : Study the following information carefully and answer the
questions.

The given below pie chart shows the percentage distribution of the total number of chairs
(wheel and office) manufactured in five different months i.e. January, February, March, April
and May and also given table chart shows the ratio of the number of wheel chairs to office
chairs manufactured on five different months.

fFftta FRi=t 6 e W@ = 5000
The Total Number of Chairs Manufactured = 5000

EECK|
May January

27%

February
20%

March
18%

wEA SEIT i hl AT 1 TR
Months ERIEATEILE RG]

The ratio of the number of
wheel chairs to office
chairs manufactured

e’/ January 2:1
%l / February 753
II'I?f/March 4:5
31t/ April 1:1
73/ May 3:2
76. | wmaht i fififa o PRI § F 209 Fhiat T frbl | Ay s § @ R T sThE HRE 6
AT AR S HEAT T HGAT H FAIAC 5 ¢ 4 8, Al SHA H o= Tg SE Sl bl H@A [
i |
780
Out of the total number of chairs manufactured in January, 20% of the chairs are unsold. If the
ratio of the number of office chairs to wheel chairs unsold in January is 5 : 4, then find the
number of wheel chairs sold in January.
780
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77. | 98 ¥ fafifa e il 6 9@ ik st § fififa she St S w@n &1 e 3 Hie |
5:3
Find the ratio of the number of wheel chairs manufactured in May to the number of office
chairs manufactured in January.
5:3

25 | el T T s SR o EE S e 8 R s FRE H) we % s S T
450
Find the difference between the number of wheel chairs manufactured in February and the
number of wheel chairs manufactured in April.
450

79. | Afe 5o # fafila e Rl & gen, 9= 4 i <ia SR 6 @@ 1 5/8 2 3R w" 3R 57 |
fftia strhre SRl i T 1 UM 5 : 37, @ S § MiHd HE i o Fe Ja H |
550
If the number of wheel chairs manufactured in June is 5/8™" of the number of wheel chairs
manufactured in March and the ratio of the number of office chairs manufactured in March and
June is 5 : 3, then find the total number of chairs manufactured in June.
550

go. | 30« # fafifa 1ihma it it gen sl 3 3w ° ffifa $R i $o1 @ & g 3@ w1

e ftera & 2
50%

The number of office chairs manufactured in April is what percentage of the difference
between the total number of chairs manufactured in February and April ?

50%

few (v, 9. 818 9. 1. 85) : frfafigd SRl o1 samgdes e i 3t e fog oyt &
IW T |

Direction (Q. No. 81 to Q. No. 85) : Study the following information carefully and answer the
questions given below.

TGl o 3ifehd 0ol (5. H)
Marked Price of the Products (in Rs.)

T T T T

Cell Phone Computer Smart Watch Dining Table Book Rack
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81. | Al HI H1 3Alhd Ao 30 T Yod W 20% HAUH 8 3N GHHGR H & 3Alhd qed T 15%
&I P2 <dT 7, A1 R I @Y Tfavrd 71a Hif |
2%
If the marked price of the computer is 20% more than its cost price and the shopkeeper offers
a discount of 15% on the marked price of the computer, then find the profit percentage of the
computer.
2%

82. | Ife & B % 3 qod 3TN 3fhd Yod 1 AT 3 : 4 7 3T THMEGR g AToiq 19 1,200 T 2,
T GHMER §RI & I aTell g T hIY, |
800 TT
If the ratio of the cost price and marked price of the cell phone is 3 : 4 and the profit earned by
the shopkeeper is Rs. 1,200, then find the discount offered by the shopkeeper.
Rs. 800

83. | i 29 3T g% 1 o 3ifehd Hed 1 3ftEd A HRC |
8,500
Find the average of the marked price of dining table and book rack.
Rs. 8,500

84. | TTE AT 3R b 1 1 {o3hT qoF 4 : 5% UG | & 3 TIE ara I T o 4,800 T & | A
GHMGR I THIE a1 W I8 Hlehd qed I 10% o9 HeAdr §, d1 gHMER g g % W & M
el B Fd T |
250 T
The selling price of smart watch and book rack is in the ratio of 4 : 5 and the cost price of the
smart watch is Rs. 4,800. If the shopkeeper gets the profit of the smart watch is 10% of its
marked price, then find the discount offered by the shopkeeper on a book rack.
Rs. 250

85. | T3 o T sk o 3TN Afehd Hed 4 : 58 | AG GHMER &l 25% 1 o fieren 8, @ 3t
SIS T A Hed A HINT |
6,400 U2
The selling price and marked price of the dining table is 4 : 5. If the shopkeeper gets the profit
of 25%, then find the cost price of the dining table.
Rs. 6,400
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Fcu (v. 5. 86 | U. 4. 90) : & 7S drfctehT TR 37— 3T hU-Al § HHATRAT shl &A1 3 FBE-4
fowm & gey w=iEt w1 wfaea, gy 3 afgen sHeriel &1 g i 8 |

HACET | QY S-S FI9IT B840 37 A1k & |

Direction (Q. No. 86 to Q. No. 90) : The given table shows the number of employees in four
different companies and the percentage of male, ratio of the male to female employees in
Finance department.

The companies have two different departments Finance and Marketing.

&R (g e s ferm [ wrgaem faram
Company [swenfet it [srenfe |6 wrenfEt  (H gew oiv
e/ %/ %,/ Afgen
Total % ofthe  |% of the wHHATE

number of |male employees
hT AU,

employees |employees |in Finance . /

department |Ratio of the

male to
female
employees
in Finance
department
A 2000 60% 70% 4:3
B 2400 75% 50% 3:1
c 1800 50% 60% 5:4
D 2800 75% 50% 9:5
86. | Tft Hufai & ey HH=IRAT T Ed T H=M R 7
1500
What is the average number of male employees in all the companies together ?
1500
87. | D ® Trhfem fawm & =Rl § Gy 3R gl Sl Ho T 1 UG R 7 7
6:1
What is the ratio of the total number of male to female in Marketing department employees
inD?
6:1
88. | C ¥ ®rEAH fawm § qey FHH=IRA 1 T D | WIeh(T favmT o HU=TRAT 6l T TEAT T AT
fepa e & 7
43%
The number of male employees in Finance department in C is approximately what percent of
the total number of employees in Marketing department in D ?
43%
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89. | meft spufai o ARk fawm # gy 3R Aigen HH=TRAT & " F1 W g ?
1680
What is the difference between the male and female employees in Marketing department in all
the companies together ?
1680
90. | &t shufaai ® wrga=m faum o nfgen wH=ial 61 3idd g F= 8 7
470
What is the average number of female employees in Finance department in all the companies
together ?
470
few (9. 9. 91 | W. 9. 95) ; FrAfetfad Sehit w1 eamgdes 316w i 37T fou e ywai & I g |
frferfaa arfoerent e fafvea av # 5 fafy= forami gra 3caTfea wae i 5o @@ (e o)
qdt & |
Direction (Q. No. 91 to Q. No. 95) : Study the following information carefully and answer the
given questions.
The following table shows the total number of crops (in quintal) produced by 5 different
farmers in a certain year.
w | ey | W = )
Rye | Mustard | Oats | Sugarcane | Wheat
A 640 [ 920 340 900 300
Roshan
TR 1 480 | 580 180 600 440
Prabhakar
?@ 750 | 660 250 560 650
Theja
P 200 [ 1050 | 280 840 820
Bhargav
T 260 | 760 | 320 720 630
Krishna
91. | UM GRI IcHIEd A BHe, AT GRI IcATGd bt BET! b1 AT fohem ferora g 2

97%

The total crops produced by Roshan is approximately what percentage of total crops produced
by Bhargav ?

97%
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92.

AT gRT IcqTied 3NEd BE Id e |
574

Find the average crops produced by Theja.
574

93.

gyf} feu 7 fopami gro Scafed UE i 18 & 3fiHd o o= 37T F Bt |
192

Find the difference between the average of Rye produced to that of Oats produced by all the
given farmers together.

192

94.

Tt fopeml g IcaTfed $or Tl 3R He 5 o o= ST 71 R |
397 : 284

Find the ratio between total Mustard produced to that of total Wheat produced by all the
farmers.

397 : 284

95.

forg fopam 3 dE0 G 1 ®EA IS ?
A

Which farmer produced third lowest number of crops ?
Theja

96.

Choose the right answer from the five options given below to frame meaningful sentence.

Rama / garden /in / the / be / may

Rama may be in the garden.

97.

Choose the one word substitution from the five options given below.

A group of persons working on a ship or aircraft

Crew

98.

Fill in the blank with the correct option.

What for breakfast ?

do you usually have
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Direction (Q. No. 99 and Q. No. 100) : Read the following passage and answer the questions
by choosing the right option.

Time is one of the most valuable resources we have, yet many people struggle to manage it
effectively. In today’s fast-paced world, students, professionals and even homemakers face
numerous tasks every day. Proper time management helps individuals prioritize their
activities, meet deadlines and reduce stress.

One of the key benefits of managing time wisely is improved productivity. When people plan
their day and allocate specific time slots for each task, they tend to achieve more in less
time. It also creates a sense of discipline and responsibility.

Moreover, effective time management leads to better work-life balance. When tasks are
completed on time, individuals can make space for leisure, hobbies and family. This not
only boosts happiness but also improves mental well-being.

However, poor time management can result in procrastination, missed deadlines and
increased anxiety. Developing time management skills requires practice and consistency.
Simple habits like creating to-do lists, setting goals, and avoiding distractions can go a long
way in making each day more efficient and meaningful.

99.

What is the main purpose of the passage ?

To highlight the importance of time management

100.

According to the passage, how can individuals start improving time management ?

By creating to-do lists and avoiding distractions

VZ9

18 MASTER SET






